@

where le / v, and v20 / v, are the’fractional ‘volumes originally

o
(at 0 pressure) occupied by the two components, and 1 dvl ‘
the compressibility of the first component. Using tnelcompressi-
=12

bility of Na near 12 kilobars which is 10 x 10 ~°, one gets

" for the reflector (85% Be, 15% Na)

.1 & = (0.85x 0.56+ 0. 15 x- 10) x 10‘12- 2.0 x 10 -12

Similerly, the hot blanket consists of 30% Na and 70% U by volume,

giving | R e

I ow _ (0.7 x 1. 08-5-033: 1o)x 107122 3,7 x 1071°

Vo dp o ,
The sound velocity is glven by
' 2

dg _ Adv

-

where}v}is the_specific volume.

The acoustic impedance i1s calculated from

(S’c‘)isi - _ Lk
;2 dv T = (1l/vg) (dv/dp -
wherejo is the uncompressed density of the mixture
ﬁo Y10 + S’eo Y20
VO : VO o

with S&o and.f2o»the uncompressed densities of the two components.

This gives for the reflector -
Sor = 0. 85 x 1. 8-@-0.15 x 097 1. 68
(f’c) C. 92 X 106
6

whereas for pure Be, the aooustic impedance is’ 1 80 x 10,
Similarly, for the blanket '

Sop = 07x189+03x097—135

(b)

(c)

(d)

(e)

( b )‘\
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